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 �������	
���
�������
����������� 2 �������� ������������� �!ก���	�ก�#��$�%�� &'���(�� 
��#����� )���ก����ก��� 7 ���(&� 	#�ก�
&ก&+��������(��&,-���	�����&��������	����&,��&���...�
�
ก&'�,�����/�&�� )�/�+�#���	�&����������	%,�(��� )�&'�'��������� %�����!�ก,-���$%��
����� 
 ก�&��/����#����&�0�������#�(��&,-���	��#���� ก�&������� &'���(�� (ก��.) /-������0	����
�ก3����	��#����(	��������3
 32,655 (&� �ก�
&ก&(��&,-���	�����&��� 3,913 &�� ��/����#� 10 0,���,� 
(���ก� ��&�&#;&&	&�+ �$&��<&=;��# /,��$� +$	/&  >

��# 
&,� ก&'-#� �&�;3��� �'�� ��'��%�� /&��	
(��( �����&3	��'��,-��$� �!ก�����	������ ?���-��ก�&+��������� )� 3 ก�$�	 
 ก�$�	�&ก ������$�&3�	 �!ก��� 2  @�&��� � )������Aก�#�(��&,-���	��#�����!� 0'
����&�� �!ก��	�
�����... ก�$�	��� � )�
��������$ 2  @�&������ 7  @ ��ก��#����0'0�����3�+��� �������ก�& �!ก��&3	 
 ����ก�$�	�$������ B�ก&#����� ������C�0'(	�	#��ก&'�-	�ก�,ก �
���ก�ก3����	��#���� 
���( 
%�&,-ก�&�����&3	��'��,-��$� ���	#ก�& �!ก���
�	��,ก�กDE=%�� ก��.(��(&��' 16,000 -�� 
 �	����&A�F�#� �&.;#;,+ �$%�'��� �!����ก�& ก��. (��	�-��3�+��������+���������#���&�&#;&&	&�+ 
800 &�� &���' 3,000 -�� 	#/����#���������#���� 3,623.75 (&� &�	 2.4 ����-�� � )���3���,��3ก�&
�/���-&&������	�����&���0�ก�- &'	�Dก���$�/,I�����/�&� 	�
&� 49 (5) ��,��3ก�&�ก�
&ก&
+�������� �/���+��+�&��(���#��!C��#� � )�ก�&�&���%�,C��'ก���,��0���+�������� ��'�,�0'
���( 
	�-�#ก����0,���,�&�	� )���3� 11,739,000 -�� 
 /&��	(��ก��+,-����!�������ก�& ก��.�$ก0,���,� ��/����#���'0,��0�������#�������	&!� ��'������ก�&
JKL�J!������������!ก�3;# �/������
�����ก�,-	��������3
(�������	# &'�3�;3
�/ ��'������	����������
�!�� 
&�0��-ก�&0���Mก�&&,-��3� �������N���&���&#�ก�กA-�,��3���	�����#
�#�����	� 
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 ������,�( �	��� 30  @ก��� ����� O+3��?-���P %��&,Q-�� /�.�.+�
3+�� +$D�'�,D ��� ?�&�ก�&
/,I��+��R>S��'��
��
'�,���ก �&�� O�#���3&=� N#-�&=�P �#���	�&�/�3ก?T	 &'���(��0�ก�$� 
O�ก�
&ก&&	P 	�� )��$� O�$
���ก&&	P 0�(��&,-ก�&ก����%������ )��$� O?+
3+���+,+���P 
 �����,-0�ก�,��� )�
��	� ก�&��,��(���%��	�%���$���C�0�ก
��� &'����#�0'+����ก&'�,- &'���
(���-- O/�3กRU�	��P กA(	�(���ก3�%���	��#ก! 
 �	��� &'���(����3�	����0$�-,��,-�#� &'���(	���00'��$���!��3��F(���#ก���� ������0�กก�&/,I��
 &'���(����$���!�ก,-�#�-�/���Q���$
���ก&&	��3	 %D'�#� &'�������Fก����%���!��$��$
���ก&&	��	�0�ก
ก�&�3������,
ก&&	( ก,����� 
 &,Q-�� /�.�. &'�$�;= 0,��&=?�+� 0��	#�?�-���#�0'/�3ก &'���(����	� ����ก�&���ก�&���$�
�$
���ก&&	��������
�#� >00$-,� &'���(���,�(	�	# �&��� )��$
���ก&&	��3	�#�(��
�����(�� ?�� >00,�
����,C%���$
���ก&&	��������

���
,����!�-�/����#��#��,ก���$�
���+�
3&!�0,ก�#��'��!�-�/����#��#�	#
�$
���ก&&	
�����(�� 0��	#�?�-���#�0'/,I�� O?�&�ก�&&'�-#����&�Qก30
��
'�,���ก (Eastern 
Economic Corridor �&�� EEC )P -�/����#� 3 0,���,���� T'�+3���&� +�-$&# ��'&'��� N���� )�/����#���3	%��
?�&�ก�&/,I��+��R>S��'��
��
'�,���ก�,����� 
 ?�� /�.�. &'�$�;= ��Q��'�,������D'&,ก�����	��-����+�
3 (��+.) (�����,�	�
&� 44 ����
&,Q;&&	�!C (T-,-+,���&��) /.�.2557 ��ก����,���,����� ��+. �&����ก�&/,I��&'�-#����&�Qก30/3���
��

'�,���ก �/���ก�����	�
&ก�&/,I��&'�-#����&�Qก30 �&�� EEC ���-,��ก3�������� d3-,
3(�������� )�
&! ;&&	?���&A� 
  &'���(��0'ก�,-	�?+
3+���+,+����#ก�&,���&��(	� O�#	��&�Qก30P 	#?�ก���,	
��D= �&.�D3� 
����$/&&D ��%�;3ก�&�D'ก&&	ก�&�?�-��ก�&/,I��&'�-#����&�Qก30/3���
��
'�,���ก (�&�.) �#�
�D'&,Q	�
&# (�&	.) �/3����$	,
3�
��
,����'	�-�	������ )��!��������?�&�ก�&�#� �,��#� : 
 
 



�0�� 4
��%����� 5��
��&6 7�� 2 
 �&.�D3�(������&���#�	�?�&�ก�&/,I��&'�-#����&�Qก30�#���� ���#��3� EEC กA��� �&.����' �!��
ก!� ��' �&.��D,
3 ��
�
3&�= �#��3�?�&�ก�&/,I��+��R>S��'��
��
'�,���ก �/&�' EEC กA���ก�&/,I��
+��R>S��'��
��
'�,���ก 
�� 2 �������#�	#���		$��	,��0'���?�&�ก�&�#��������&A0��� /�.�. &'�$�;= 
0,��&=?�+� ���กf �#���	�,� 	.44 	� ���A�กก�&����������&A�%���/&��	�,�����ก�&��,-��$�������
A	�#� 
 O�#กRU���#� &'+�+�
���%�-�$DกA��� ก���,/�&���#�+������	#ก�&/,I�����	-3��!�
'�
� N������� )�
ก&'�!ก�,���,�%��?�&�ก�&�#�P 
 �,���#� ?�&�ก�&�#�0'
�����,ก�,�ก�&���$��$
���ก&&	��������
ก,- 10 �$
���ก&&	� g��	��
(���ก� ��%������
=�	,���	� �3��Aก�&��3ก�=�,0T&3�' ก�&������#�����ก�$�	&��(���!���'������#����+3�
�$%
�/ ก�&�ก�
&��'���?�?��#+#�
�/ ก�&� &&! ����& �$
���ก&&	�$����
= ก�&-3���'?�03�
3ก�= 
�+����/�3�+#�
�/ ��'��	#+#�
�/ �303�,� ��'ก�&�/��=�&-��0& ?��0'
���	#ก�&���$��/���/,I��
?�&��&���/���Q��&��&,- ?���+3C+�������ก+��%��	����$��#��&�-��$	 4 ?	�!� 15 ?�&�ก�& �+��	A���3�
��ก�&���$���&'�' 5  @(	�
���ก��� 1.5 ��������-�� 
 �����(&กA
�	 	# 5 ?�&�ก�&��,ก�#�� &#�-��	��� Oก&'�!ก�,���,�P %���#�#N# �#�
��&,Q
����&��� B�
 &'	!�
����&'�' 8 �����%��������/����&������		,���0ก,-�$กRU�����?�&�ก�&�#�0'�ก3�%������F ���� )����
�������#�
����ก3�0�ก���	&��		��%���,��
��&,Q��'
����ก+� ��'
���������&'-- O/#/#/#-J����&A�P 
	��+� 
 O&'--/#/#/# J����&A� �+�������ก�&/30�&D�?�&�ก�& 9 ����� �
�����&,-/����#��#�#N#
����&A�ก���
�,�� 0��	#ก�&
,���D'��$ก&&	ก�&%���	��!��&'--/#/#/# J����&A� %��/����#��#�#N#���0'��	�&�&��&'�'����
��ก�&/30�&D�?�&�ก�&����,��%����#ก N���������,��
�		�
&� 44 � B�+��������������3�ก�&(��P 
 
%��
/�1�+0 5 ก�1&+ก�	��0	
 EEC 
 
��������� 	#.�.�#�(���������ก&,Q	�
&#���	#ก�& &'+$	�D'ก&&	ก�&&'�-#����&�Qก30/3���
��

'�,���ก (�&�.) �#�	#���กf � )� &';�� �/�������ก&�- 5 ?�&�ก�&ก&'�!ก�,���,�%�� EEC 
 &'ก�-���� 
 1.?�&�ก�&/,I�����	-3��!�
'�
� ����3� 200,000 ����-�� ��&'�' 5  @�&ก
����/3�	�,
&�&��&,-
�!�?����&0�ก 3 ������ � )� 15 ������ ก���0'/,I�������	�&�&��&,-�!�?����&(�� 60 ������ 
���� 
15  @ 
 2.?�&�ก�&&�(J���	�&A��!�ก&$���/f-&'��� ����3����$� 158,000 ����-�� �#�0'
����+���	?��
���	-3�/�D3+�= 3 �����������&A0(���ก� ���	-3�����	��� ���	-3��$�&&D
!	3 ��'���	-3��!�
'�
� 
 3.?�&�ก�&/,I������&�����	T-,�&'�'�#� 3 ����3� 88,000 ����-�� 
 4.?�&�ก�&&�(J����!� �+���	?������&�� 3 ���� �/����/3�	�,ก�
�/��ก�&%�����3�������&�� ����3� 
64,300 ����-�� ��' 5.?�&�ก�&/,I���	�����	� ��/����#� 3 0,���,� �/���&��&,-ก�&/,I����&�Qก30��'
�$
���ก&&	 N����� @�#�0'
���(��%���&$ �&����/����#���'ก�&0,�&! �#��3� 



 O &'��A�����,C��� ��&'�' 5  @0�ก�#�0'
���%������	-3��!�
'�
����&��&,-�!�?����&(�� 15 ����
��0�ก >00$-,��#�ก���,/�&��(���/3�	%#����	��	�&���ก�&&,-�!�?����&0�ก 1.5 ���������� )� 3 ������
��!����� �/&�' >00$-,�	#�,ก������#�����3����( /,��� @�'ก��� 10 ��������!����� N���0'+���&��&,-���	
���,�%�����	-3��$�&&D
!	3 ��'���	-3�����	���(������P 
 %D'��#��ก,� ?�&�ก�&&�(J���	�&A��!����ก&$���/f-&'��� 0'
����%��������	-3��!�
'�
���'	#
ก�&� B����-&3ก�&���,��# 0��0'�������,��?�&�ก�&���	-3��!�
'�
���'&�(J���	�&A��!�ก&$���/f-&'��� 
 &'�-���	����&A0(�� 
 O�,�����?�&�ก�&�#�
���( ����ก,���'
���/���/�ก,� �#ก��������#������	-3��!�
'�
�กA��	�&�
��
&�(J���	�&A��!��%��ก&$���/f(��
���� 45 ���# ��'�+���	
��( �,����	-3��$�&&D
!	3 ��'���	-3����
�	���P 

 
 
 �&.�D3�ก����������� ��/��%��ก�&/,I�� EEC 0'�������ก3�ก�&/,I���	�����	�� )��	����#�
�,��	,���' &'+�+�	#&��(����'�$D
�/+#�3
�#%�������������� 3 /����#���� T'�+3���&� +�-$&# ��'&'��� 
?��T'�+3���&�0'� )��	����#�&��&,-���	�0&3C��'ก�&%���
,�%��ก&$���/f ������0�ก &'+�+���	�&�
��3����( 	�&'���������	����#�����&�(J���	�&A��!�
���� 20 ���# 
 ����/����#�+�-$&#�&3�		#ก�&��&��ก,����ก�&�&��� O?�&�ก�&/,��� 2P ����-����&� &��&,-ก�&������#��� 
��'ก�&0,�
,������,ก�����C�%��	 &'��� %D'�#�/����#�&'���0'� )�0,���,��#������!��#��$� ������0�ก	#ก�&
�
3-?
%����&�Qก30	�ก%��� ��'	#?�&��&���/���Q������,��	�+�� ?&��&#������+�
3 ?&�/��-��+,����� 
&��&,-ก�&��!����,�%���!��+#���+�C��'�,ก���$�
���+�
3 
 ��ก0�ก�#��,�	#ก�&�
&#�	�-�#กก��� 200,000 ����-�� ����&,-�����&3	ก�&/,I��/����#���'
�$
���ก&&	������#���&��&,-ก�$�	�,ก������#���&��(���!� ?��?�&�ก�&�#������3�ก�&( ������� ก�&/,I��
����&��0$ก��	A� 0.+�-$&# ���� )�����&���+3�/�D3+�=&��&,-�&���J�&=&#��#�0'��3����������#�����-&3��D����(�� 
 



:+ 4%����

��
��% 36 &;
&+&ก��0
�.�! 
 ��%�;3ก�& �&�. �,�ก����������� �,-
,���
�&,Q-��(���������?�&�ก�& EEC 
���,ก���$�
���+�
3 
 &�กd���(��&,-ก�&
�-&,-�#��#	�ก ������0�ก&!�0,ก/����#��#��#��!���������	 O�#���3&=� N#-�&=�P 
 �3���	���&!���� &'���(����������	�����&,-&��&,-�$
���ก&&	��������
 ��'0'/,I�� EEC ���
� )�/����#�+,�����%�����+#� /&��	Fก,-����3�;3 &'?�+�=/3�����ก�&���$��#�/3���ก���/����#�����F �3��(��&,-
���	���0 
 O�	��
��'-&3�,�	#���	
���ก�&��'	#������(%(	���	���ก,� �� EEC 0��	#��&����	������!�ก�&���$�
�&-�����,��	�
&ก�&���
��# ��'ก���$�/,I��%#����	��	�&���ก�&�%��%,� ����3� 10,000 ����-�� 
���� )���&����	��0!��0-&3�,�+,������#�� )�ก�$�	� g��	�� ���ก�$�	�$
���ก&&	��������
 ��'������
��,
ก&&	��	��%��	� ?��0'	#ก�&�0&0�
&�� )�&��F(  �
ก
���0�กก�&�����&3	ก�&���$��#�����	� �,���#�
�&�0'��A�ก�&���$�%��
����ก+�	#���	+,��0�%���
,���
� @�#�� )�
��(  %D'�#��&3�		#�,ก���$��,������'
��ก &'����#����00'���$���/����#�
3�
���%��	�����P 
 ����$� �D'&,Q	�
&# (�&	.) 	#	
3����	�
&ก�&
��#�������#�� )���3�(�� �,���#�� )���3������ ���0��� 
�-#����#��� ��'?-�,� ����&,-�!��+#���+�C&'�,-?�ก�#��%��	���������-&3�,��#�
,����!���/����#� EEC 0�ก��3	�#�
0,��กA-
��#���,
&�ก��������!��$� 35% ��������/#�� 17% 
���ก����3��? &=�#��กA- 20% ��'�ก����#��
j���ก��#��กA- 15-17% �/#���
�
�����!�
���
�������(%�#�ก����� ��� � )��!��#���������-&3�,��#��ก#���%���ก,- 
10 �$
���ก&&	� g��	�� ��'-&3�,��#������!�(��&,-ก�&��
��#��3�(���3
3-$���
�	 /.&.-.�/3�	%#�
���	��	�&���ก�&�%��%,�%�� &'����&��(��&,-�3�;3 &'?�+�=ก�&���$�0�ก-#?�(� 
 O	�
&ก�&�#�
���%�-�$D ����
3�,ก�3k 
,�
3�&���= &	�.��,� �#�
,��3��0������� �&	.�/&�'0'+���
����!�-&3��& �!��+#���+�C ��'�,ก�30,�&'�,-?�ก����%��	��������� &'���(�� 0�ก��3	�#����ก��������#�0'	�
�--+,���&�� -3�	�����กA-3�ก�,-(  �	����&�	#	�
&ก�&
��#�#�����!��%�0'	��������� &'���(��0'+���
����ก3�ก�&�30,���'/,I�����?�?��#��'��,
ก&&	 &�	�,������������=���	&!���'�,ก�'�#��ก#���%������ก,-
-$���ก&�� EEC �/���
�����ก�&/,I���$
���ก&&	%,���!��� &'���(��P 
 
�	
����
�-������ 2.5 ������� 

 �&.�D3�����#ก��� 
������� 1  @�#�����	��#����ก&,Q	�
&#	�-�	�����0,�������?�&�ก�&/,I�� 
EEC ��� �&�.(��0,�������&��	ก,-���ก��
= 
&'ก!�j$� ��'��� &'��&3Q -$C�,	/,�;= ?����� &'��&3Q
����,���� ก�&���$��/3�	�
3	%��;$&ก30 B?
&��	#��/����#�0'	#%�������������� ��'�	���&�	ก,-ก�&���$���
;$&ก30�#��ก#���%���ก,-�$
���ก&&	+#�
�/ 0'	#ก�&���$�(	�
��� ก��� 250,000 ����-�� 
���� 5  @�#� 
 %D'�#�ก�&���$�%���$
���ก&&	� g��	���#�0'
����� S-Cruve �$
���ก&&	��3	��/����#��+�� ก�&
���$��$
���ก&&	�����
=�#�������
0'	#ก�&�����&3	ก�&��3
&���
=(JJg� (EV) �/���&��&,-���?�?��#
&���
=(JJg��#�(��&,-���	�3�		�ก%����&����F ��'�� 5  @%�������	#���	� )�( (���!��#�&���
=(JJg�0'	#
&����!กก���&���
=�--��3	 
 



�,��,�� ���-#?�(�0'���ก�&�����&3	-&3�,�&'�,-?�ก�#�	#���?�?��#	��
�&=��'�-
�
�&#�(JJg�����%��	�
���$��� EEC N���ก��������#� ����$

	 ������� &	�.�$
���ก&&	 (����&��ก,--&3�,�&���
=+,����� 
�����-&3�,� -#��A	 �,-�-3��! %�����&	�# ��'(��+,ก+������%��	����$��� &'���(������ 
 %D'�#�ก�&���$����$
���ก&&	����F �#�� )�����
 �+�� �$
���ก&&	ก�&�/��= ���-&3�,� J!03 
JB�=	 ��&= ��&+,�� �!�������?�?��#ก�&�/��=%��C#� $U� (���%��/- ����	�3� 0�
$�&#/3�,ก�= &��
���ก&,Q	�
&# �/����������	���0�#�0'�%��	����$����#�#N# �+����#��ก,--&3�,� ���#-�-� %���0p� �	�� 
�#�	#ก�&N���ก30ก�&��� �#ก���(��=�/3�	�
3	กA���0�#�0'�%��	����$��&�����,��3������/����#� EEC �/���ก&'0��
�3������(�� ��'��
!	3
�� CLMV �+��ก,� 
 ��ก0�ก�,�� ;$&ก30ก�&-3�N���� )��,��0����,C%��ก�&/,I��?�&�ก�& EEC (��������ก�&/,I��
���	-3��!�
'�
��!��+3�/�D3+�=�
A	&! �--&��&,-ก�&� )� OAeropolisP �&���	����$
���ก&&	ก�&-3�� )�
�!��=ก���%��;$&ก30ก�&-3���
!	3
�� ?������$��#�-&3�,�ก�&-3�(�� 0��ก,� (	��+�) (������	��-,���ก
���	�%���0ก,--&3�,� ��&=-,� ก&$p  �!�����$
���ก&&	ก�&-3�0�กR&,����� �/���&��	ก,�/,I���!��=N��	
��ก�����%�����C�-&3��D���	-3��!�
'�
����� 
�,��,�� ����
-&3��D&�-���	-3��!�
'�
�0'	#/����#��+3�/�D3+�=� )�/����#� ���
��#�/���&��&,-ก�&
������#��� 	#���-,�Rvกก�&-3��&-��0& ��'?&�����#���3
+3��������ก�����?��
&����� 
 ?�&�ก�&���$�������#�0'/�3ก?T	���� &'���(���!�&! ;&&	
�	�?�-�� O(������= 4.0P �#�
%,-�������ก�&/,I�� &'������� >CC� ���?�?��# ��'��,
ก&&	��������0&3�!!! 
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 �������	
���
�������
����������� 2 �������� ������������� �!ก���	�ก�#��$�%�� &'���(�� 
��#����� )���ก����ก��� 7 ���(&� 	#�ก�
&ก&+��������(��&,-���	�����&��������	����&,��&���...�
�
ก&'�,�����/�&�� )�/�+�#���	�&����������	%,�(��� )�&'�'��������� %�����!�ก,-���$%��
����� 
 ก�&��/����#����&�0�������#�(��&,-���	��#���� ก�&������� &'���(�� (ก��.) /-������0	����
�ก3����	��#����(	��������3
 32,655 (&� �ก�
&ก&(��&,-���	�����&��� 3,913 &�� ��/����#� 10 0,���,� 
(���ก� ��&�&#;&&	&�+ �$&��<&=;��# /,��$� +$	/&  >

��# 
&,� ก&'-#� �&�;3��� �'�� ��'��%�� /&��	
(��( �����&3	��'��,-��$� �!ก�����	������ ?���-��ก�&+��������� )� 3 ก�$�	 
 ก�$�	�&ก ������$�&3�	 �!ก��� 2  @�&��� � )������Aก�#�(��&,-���	��#�����!� 0'
����&�� �!ก��	�
�����... ก�$�	��� � )�
��������$ 2  @�&������ 7  @ ��ก��#����0'0�����3�+��� �������ก�& �!ก��&3	 
 ����ก�$�	�$������ B�ก&#����� ������C�0'(	�	#��ก&'�-	�ก�,ก �
���ก�ก3����	��#���� 
���( 
%�&,-ก�&�����&3	��'��,-��$� ���	#ก�& �!ก���
�	��,ก�กDE=%�� ก��.(��(&��' 16,000 -�� 
 �	����&A�F�#� �&.;#;,+ �$%�'��� �!����ก�& ก��. (��	�-��3�+��������+���������#���&�&#;&&	&�+ 
800 &�� &���' 3,000 -�� 	#/����#���������#���� 3,623.75 (&� &�	 2.4 ����-�� � )���3���,��3ก�&
�/���-&&������	�����&���0�ก�- &'	�Dก���$�/,I�����/�&� 	�
&� 49 (5) ��,��3ก�&�ก�
&ก&
+�������� �/���+��+�&��(���#��!C��#� � )�ก�&�&���%�,C��'ก���,��0���+�������� ��'�,�0'
���( 
	�-�#ก����0,���,�&�	� )���3� 11,739,000 -�� 
 /&��	(��ก��+,-����!�������ก�& ก��.�$ก0,���,� ��/����#���'0,��0�������#�������	&!� ��'������ก�&
JKL�J!������������!ก�3;# �/������
�����ก�,-	��������3
(�������	# &'�3�;3
�/ ��'������	����������
�!�� 
&�0��-ก�&0���Mก�&&,-��3� �������N���&���&#�ก�กA-�,��3���	�����#
�#�����	� 

�������� 
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 ������,�( �	��� 30  @ก��� ����� O+3��?-���P %��&,Q-�� /�.�.+�
3+�� +$D�'�,D ��� ?�&�ก�&
/,I��+��R>S��'��
��
'�,���ก �&�� O�#���3&=� N#-�&=�P �#���	�&�/�3ก?T	 &'���(��0�ก�$� 
O�ก�
&ก&&	P 	�� )��$� O�$
���ก&&	P 0�(��&,-ก�&ก����%������ )��$� O?+
3+���+,+���P 
 �����,-0�ก�,��� )�
��	� ก�&��,��(���%��	�%���$���C�0�ก
��� &'����#�0'+����ก&'�,- &'���
(���-- O/�3กRU�	��P กA(	�(���ก3�%���	��#ก! 
 �	��� &'���(����3�	����0$�-,��,-�#� &'���(	���00'��$���!��3��F(���#ก���� ������0�กก�&/,I��
 &'���(����$���!�ก,-�#�-�/���Q���$
���ก&&	��3	 %D'�#� &'�������Fก����%���!��$��$
���ก&&	��	�0�ก
ก�&�3������,
ก&&	( ก,����� 
 &,Q-�� /�.�. &'�$�;= 0,��&=?�+� 0��	#�?�-���#�0'/�3ก &'���(����	� ����ก�&���ก�&���$�
�$
���ก&&	��������
�#� >00$-,� &'���(���,�(	�	# �&��� )��$
���ก&&	��3	�#�(��
�����(�� ?�� >00,�
����,C%���$
���ก&&	��������

���
,����!�-�/����#��#��,ก���$�
���+�
3&!�0,ก�#��'��!�-�/����#��#�	#
�$
���ก&&	
�����(�� 0��	#�?�-���#�0'/,I�� O?�&�ก�&&'�-#����&�Qก30
��
'�,���ก (Eastern 
Economic Corridor �&�� EEC )P -�/����#� 3 0,���,���� T'�+3���&� +�-$&# ��'&'��� N���� )�/����#���3	%��
?�&�ก�&/,I��+��R>S��'��
��
'�,���ก�,����� 
 ?�� /�.�. &'�$�;= ��Q��'�,������D'&,ก�����	��-����+�
3 (��+.) (�����,�	�
&� 44 ����
&,Q;&&	�!C (T-,-+,���&��) /.�.2557 ��ก����,���,����� ��+. �&����ก�&/,I��&'�-#����&�Qก30/3���
��

'�,���ก �/���ก�����	�
&ก�&/,I��&'�-#����&�Qก30 �&�� EEC ���-,��ก3�������� d3-,
3(�������� )�
&! ;&&	?���&A� 
  &'���(��0'ก�,-	�?+
3+���+,+����#ก�&,���&��(	� O�#	��&�Qก30P 	#?�ก���,	
��D= �&.�D3� 
����$/&&D ��%�;3ก�&�D'ก&&	ก�&�?�-��ก�&/,I��&'�-#����&�Qก30/3���
��
'�,���ก (�&�.) �#�
�D'&,Q	�
&# (�&	.) �/3����$	,
3�
��
,����'	�-�	������ )��!��������?�&�ก�&�#� �,��#� : 
 
 



�0�� 4
��%����� 5��
��&6 7�� 2 
 �&.�D3�(������&���#�	�?�&�ก�&/,I��&'�-#����&�Qก30�#���� ���#��3� EEC กA��� �&.����' �!��
ก!� ��' �&.��D,
3 ��
�
3&�= �#��3�?�&�ก�&/,I��+��R>S��'��
��
'�,���ก �/&�' EEC กA���ก�&/,I��
+��R>S��'��
��
'�,���ก 
�� 2 �������#�	#���		$��	,��0'���?�&�ก�&�#��������&A0��� /�.�. &'�$�;= 
0,��&=?�+� ���กf �#���	�,� 	.44 	� ���A�กก�&����������&A�%���/&��	�,�����ก�&��,-��$�������
A	�#� 
 O�#กRU���#� &'+�+�
���%�-�$DกA��� ก���,/�&���#�+������	#ก�&/,I�����	-3��!�
'�
� N������� )�
ก&'�!ก�,���,�%��?�&�ก�&�#�P 
 �,���#� ?�&�ก�&�#�0'
�����,ก�,�ก�&���$��$
���ก&&	��������
ก,- 10 �$
���ก&&	� g��	��
(���ก� ��%������
=�	,���	� �3��Aก�&��3ก�=�,0T&3�' ก�&������#�����ก�$�	&��(���!���'������#����+3�
�$%
�/ ก�&�ก�
&��'���?�?��#+#�
�/ ก�&� &&! ����& �$
���ก&&	�$����
= ก�&-3���'?�03�
3ก�= 
�+����/�3�+#�
�/ ��'��	#+#�
�/ �303�,� ��'ก�&�/��=�&-��0& ?��0'
���	#ก�&���$��/���/,I��
?�&��&���/���Q��&��&,- ?���+3C+�������ก+��%��	����$��#��&�-��$	 4 ?	�!� 15 ?�&�ก�& �+��	A���3�
��ก�&���$���&'�' 5  @(	�
���ก��� 1.5 ��������-�� 
 �����(&กA
�	 	# 5 ?�&�ก�&��,ก�#�� &#�-��	��� Oก&'�!ก�,���,�P %���#�#N# �#�
��&,Q
����&��� B�
 &'	!�
����&'�' 8 �����%��������/����&������		,���0ก,-�$กRU�����?�&�ก�&�#�0'�ก3�%������F ���� )����
�������#�
����ก3�0�ก���	&��		��%���,��
��&,Q��'
����ก+� ��'
���������&'-- O/#/#/#-J����&A�P 
	��+� 
 O&'--/#/#/# J����&A� �+�������ก�&/30�&D�?�&�ก�& 9 ����� �
�����&,-/����#��#�#N#
����&A�ก���
�,�� 0��	#ก�&
,���D'��$ก&&	ก�&%���	��!��&'--/#/#/# J����&A� %��/����#��#�#N#���0'��	�&�&��&'�'����
��ก�&/30�&D�?�&�ก�&����,��%����#ก N���������,��
�		�
&� 44 � B�+��������������3�ก�&(��P 
 
%��
/�1�+0 5 ก�1&+ก�	��0	
 EEC 
 
��������� 	#.�.�#�(���������ก&,Q	�
&#���	#ก�& &'+$	�D'ก&&	ก�&&'�-#����&�Qก30/3���
��

'�,���ก (�&�.) �#�	#���กf � )� &';�� �/�������ก&�- 5 ?�&�ก�&ก&'�!ก�,���,�%�� EEC 
 &'ก�-���� 
 1.?�&�ก�&/,I�����	-3��!�
'�
� ����3� 200,000 ����-�� ��&'�' 5  @�&ก
����/3�	�,
&�&��&,-
�!�?����&0�ก 3 ������ � )� 15 ������ ก���0'/,I�������	�&�&��&,-�!�?����&(�� 60 ������ 
���� 
15  @ 
 2.?�&�ก�&&�(J���	�&A��!�ก&$���/f-&'��� ����3����$� 158,000 ����-�� �#�0'
����+���	?��
���	-3�/�D3+�= 3 �����������&A0(���ก� ���	-3�����	��� ���	-3��$�&&D
!	3 ��'���	-3��!�
'�
� 
 3.?�&�ก�&/,I������&�����	T-,�&'�'�#� 3 ����3� 88,000 ����-�� 
 4.?�&�ก�&&�(J����!� �+���	?������&�� 3 ���� �/����/3�	�,ก�
�/��ก�&%�����3�������&�� ����3� 
64,300 ����-�� ��' 5.?�&�ก�&/,I���	�����	� ��/����#� 3 0,���,� �/���&��&,-ก�&/,I����&�Qก30��'
�$
���ก&&	 N����� @�#�0'
���(��%���&$ �&����/����#���'ก�&0,�&! �#��3� 



 O &'��A�����,C��� ��&'�' 5  @0�ก�#�0'
���%������	-3��!�
'�
����&��&,-�!�?����&(�� 15 ����
��0�ก >00$-,��#�ก���,/�&��(���/3�	%#����	��	�&���ก�&&,-�!�?����&0�ก 1.5 ���������� )� 3 ������
��!����� �/&�' >00$-,�	#�,ก������#�����3����( /,��� @�'ก��� 10 ��������!����� N���0'+���&��&,-���	
���,�%�����	-3��$�&&D
!	3 ��'���	-3�����	���(������P 
 %D'��#��ก,� ?�&�ก�&&�(J���	�&A��!����ก&$���/f-&'��� 0'
����%��������	-3��!�
'�
���'	#
ก�&� B����-&3ก�&���,��# 0��0'�������,��?�&�ก�&���	-3��!�
'�
���'&�(J���	�&A��!�ก&$���/f-&'��� 
 &'�-���	����&A0(�� 
 O�,�����?�&�ก�&�#�
���( ����ก,���'
���/���/�ก,� �#ก��������#������	-3��!�
'�
�กA��	�&�
��
&�(J���	�&A��!��%��ก&$���/f(��
���� 45 ���# ��'�+���	
��( �,����	-3��$�&&D
!	3 ��'���	-3����
�	���P 

 
 
 �&.�D3�ก����������� ��/��%��ก�&/,I�� EEC 0'�������ก3�ก�&/,I���	�����	�� )��	����#�
�,��	,���' &'+�+�	#&��(����'�$D
�/+#�3
�#%�������������� 3 /����#���� T'�+3���&� +�-$&# ��'&'��� 
?��T'�+3���&�0'� )��	����#�&��&,-���	�0&3C��'ก�&%���
,�%��ก&$���/f ������0�ก &'+�+���	�&�
��3����( 	�&'���������	����#�����&�(J���	�&A��!�
���� 20 ���# 
 ����/����#�+�-$&#�&3�		#ก�&��&��ก,����ก�&�&��� O?�&�ก�&/,��� 2P ����-����&� &��&,-ก�&������#��� 
��'ก�&0,�
,������,ก�����C�%��	 &'��� %D'�#�/����#�&'���0'� )�0,���,��#������!��#��$� ������0�ก	#ก�&
�
3-?
%����&�Qก30	�ก%��� ��'	#?�&��&���/���Q������,��	�+�� ?&��&#������+�
3 ?&�/��-��+,����� 
&��&,-ก�&��!����,�%���!��+#���+�C��'�,ก���$�
���+�
3 
 ��ก0�ก�#��,�	#ก�&�
&#�	�-�#กก��� 200,000 ����-�� ����&,-�����&3	ก�&/,I��/����#���'
�$
���ก&&	������#���&��&,-ก�$�	�,ก������#���&��(���!� ?��?�&�ก�&�#������3�ก�&( ������� ก�&/,I��
����&��0$ก��	A� 0.+�-$&# ���� )�����&���+3�/�D3+�=&��&,-�&���J�&=&#��#�0'��3����������#�����-&3��D����(�� 
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��% 36 &;
&+&ก��0
�.�! 
 ��%�;3ก�& �&�. �,�ก����������� �,-
,���
�&,Q-��(���������?�&�ก�& EEC 
���,ก���$�
���+�
3 
 &�กd���(��&,-ก�&
�-&,-�#��#	�ก ������0�ก&!�0,ก/����#��#��#��!���������	 O�#���3&=� N#-�&=�P 
 �3���	���&!���� &'���(����������	�����&,-&��&,-�$
���ก&&	��������
 ��'0'/,I�� EEC ���
� )�/����#�+,�����%�����+#� /&��	Fก,-����3�;3 &'?�+�=/3�����ก�&���$��#�/3���ก���/����#�����F �3��(��&,-
���	���0 
 O�	��
��'-&3�,�	#���	
���ก�&��'	#������(%(	���	���ก,� �� EEC 0��	#��&����	������!�ก�&���$�
�&-�����,��	�
&ก�&���
��# ��'ก���$�/,I��%#����	��	�&���ก�&�%��%,� ����3� 10,000 ����-�� 
���� )���&����	��0!��0-&3�,�+,������#�� )�ก�$�	� g��	�� ���ก�$�	�$
���ก&&	��������
 ��'������
��,
ก&&	��	��%��	� ?��0'	#ก�&�0&0�
&�� )�&��F(  �
ก
���0�กก�&�����&3	ก�&���$��#�����	� �,���#�
�&�0'��A�ก�&���$�%��
����ก+�	#���	+,��0�%���
,���
� @�#�� )�
��(  %D'�#��&3�		#�,ก���$��,������'
��ก &'����#����00'���$���/����#�
3�
���%��	�����P 
 ����$� �D'&,Q	�
&# (�&	.) 	#	
3����	�
&ก�&
��#�������#�� )���3�(�� �,���#�� )���3������ ���0��� 
�-#����#��� ��'?-�,� ����&,-�!��+#���+�C&'�,-?�ก�#��%��	���������-&3�,��#�
,����!���/����#� EEC 0�ก��3	�#�
0,��กA-
��#���,
&�ก��������!��$� 35% ��������/#�� 17% 
���ก����3��? &=�#��กA- 20% ��'�ก����#��
j���ก��#��กA- 15-17% �/#���
�
�����!�
���
�������(%�#�ก����� ��� � )��!��#���������-&3�,��#��ก#���%���ก,- 
10 �$
���ก&&	� g��	�� ��'-&3�,��#������!�(��&,-ก�&��
��#��3�(���3
3-$���
�	 /.&.-.�/3�	%#�
���	��	�&���ก�&�%��%,�%�� &'����&��(��&,-�3�;3 &'?�+�=ก�&���$�0�ก-#?�(� 
 O	�
&ก�&�#�
���%�-�$D ����
3�,ก�3k 
,�
3�&���= &	�.��,� �#�
,��3��0������� �&	.�/&�'0'+���
����!�-&3��& �!��+#���+�C ��'�,ก�30,�&'�,-?�ก����%��	��������� &'���(�� 0�ก��3	�#����ก��������#�0'	�
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 �&.�D3�����#ก��� 
������� 1  @�#�����	��#����ก&,Q	�
&#	�-�	�����0,�������?�&�ก�&/,I�� 
EEC ��� �&�.(��0,�������&��	ก,-���ก��
= 
&'ก!�j$� ��'��� &'��&3Q -$C�,	/,�;= ?����� &'��&3Q
����,���� ก�&���$��/3�	�
3	%��;$&ก30 B?
&��	#��/����#�0'	#%�������������� ��'�	���&�	ก,-ก�&���$���
;$&ก30�#��ก#���%���ก,-�$
���ก&&	+#�
�/ 0'	#ก�&���$�(	�
��� ก��� 250,000 ����-�� 
���� 5  @�#� 
 %D'�#�ก�&���$�%���$
���ก&&	� g��	���#�0'
����� S-Cruve �$
���ก&&	��3	��/����#��+�� ก�&
���$��$
���ก&&	�����
=�#�������
0'	#ก�&�����&3	ก�&��3
&���
=(JJg� (EV) �/���&��&,-���?�?��#
&���
=(JJg��#�(��&,-���	�3�		�ก%����&����F ��'�� 5  @%�������	#���	� )�( (���!��#�&���
=(JJg�0'	#
&����!กก���&���
=�--��3	 
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	 ������� &	�.�$
���ก&&	 (����&��ก,--&3�,�&���
=+,����� 
�����-&3�,� -#��A	 �,-�-3��! %�����&	�# ��'(��+,ก+������%��	����$��� &'���(������ 
 %D'�#�ก�&���$����$
���ก&&	����F �#�� )�����
 �+�� �$
���ก&&	ก�&�/��= ���-&3�,� J!03 
JB�=	 ��&= ��&+,�� �!�������?�?��#ก�&�/��=%��C#� $U� (���%��/- ����	�3� 0�
$�&#/3�,ก�= &��
���ก&,Q	�
&# �/����������	���0�#�0'�%��	����$����#�#N# �+����#��ก,--&3�,� ���#-�-� %���0p� �	�� 
�#�	#ก�&N���ก30ก�&��� �#ก���(��=�/3�	�
3	กA���0�#�0'�%��	����$��&�����,��3������/����#� EEC �/���ก&'0��
�3������(�� ��'��
!	3
�� CLMV �+��ก,� 
 ��ก0�ก�,�� ;$&ก30ก�&-3�N���� )��,��0����,C%��ก�&/,I��?�&�ก�& EEC (��������ก�&/,I��
���	-3��!�
'�
��!��+3�/�D3+�=�
A	&! �--&��&,-ก�&� )� OAeropolisP �&���	����$
���ก&&	ก�&-3�� )�
�!��=ก���%��;$&ก30ก�&-3���
!	3
�� ?������$��#�-&3�,�ก�&-3�(�� 0��ก,� (	��+�) (������	��-,���ก
���	�%���0ก,--&3�,� ��&=-,� ก&$p  �!�����$
���ก&&	ก�&-3�0�กR&,����� �/���&��	ก,�/,I���!��=N��	
��ก�����%�����C�-&3��D���	-3��!�
'�
����� 
�,��,�� ����
-&3��D&�-���	-3��!�
'�
�0'	#/����#��+3�/�D3+�=� )�/����#� ���
��#�/���&��&,-ก�&
������#��� 	#���-,�Rvกก�&-3��&-��0& ��'?&�����#���3
+3��������ก�����?��
&����� 
 ?�&�ก�&���$�������#�0'/�3ก?T	���� &'���(���!�&! ;&&	
�	�?�-�� O(������= 4.0P �#�
%,-�������ก�&/,I�� &'������� >CC� ���?�?��# ��'��,
ก&&	��������0&3�!!! 
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 �������	
���
�������
����������� 2 �������� ������������� �!ก���	�ก�#��$�%�� &'���(�� 
��#����� )���ก����ก��� 7 ���(&� 	#�ก�
&ก&+��������(��&,-���	�����&��������	����&,��&���...�
�
ก&'�,�����/�&�� )�/�+�#���	�&����������	%,�(��� )�&'�'��������� %�����!�ก,-���$%��
����� 
 ก�&��/����#����&�0�������#�(��&,-���	��#���� ก�&������� &'���(�� (ก��.) /-������0	����
�ก3����	��#����(	��������3
 32,655 (&� �ก�
&ก&(��&,-���	�����&��� 3,913 &�� ��/����#� 10 0,���,� 
(���ก� ��&�&#;&&	&�+ �$&��<&=;��# /,��$� +$	/&  >

��# 
&,� ก&'-#� �&�;3��� �'�� ��'��%�� /&��	
(��( �����&3	��'��,-��$� �!ก�����	������ ?���-��ก�&+��������� )� 3 ก�$�	 
 ก�$�	�&ก ������$�&3�	 �!ก��� 2  @�&��� � )������Aก�#�(��&,-���	��#�����!� 0'
����&�� �!ก��	�
�����... ก�$�	��� � )�
��������$ 2  @�&������ 7  @ ��ก��#����0'0�����3�+��� �������ก�& �!ก��&3	 
 ����ก�$�	�$������ B�ก&#����� ������C�0'(	�	#��ก&'�-	�ก�,ก �
���ก�ก3����	��#���� 
���( 
%�&,-ก�&�����&3	��'��,-��$� ���	#ก�& �!ก���
�	��,ก�กDE=%�� ก��.(��(&��' 16,000 -�� 
 �	����&A�F�#� �&.;#;,+ �$%�'��� �!����ก�& ก��. (��	�-��3�+��������+���������#���&�&#;&&	&�+ 
800 &�� &���' 3,000 -�� 	#/����#���������#���� 3,623.75 (&� &�	 2.4 ����-�� � )���3���,��3ก�&
�/���-&&������	�����&���0�ก�- &'	�Dก���$�/,I�����/�&� 	�
&� 49 (5) ��,��3ก�&�ก�
&ก&
+�������� �/���+��+�&��(���#��!C��#� � )�ก�&�&���%�,C��'ก���,��0���+�������� ��'�,�0'
���( 
	�-�#ก����0,���,�&�	� )���3� 11,739,000 -�� 
 /&��	(��ก��+,-����!�������ก�& ก��.�$ก0,���,� ��/����#���'0,��0�������#�������	&!� ��'������ก�&
JKL�J!������������!ก�3;# �/������
�����ก�,-	��������3
(�������	# &'�3�;3
�/ ��'������	����������
�!�� 
&�0��-ก�&0���Mก�&&,-��3� �������N���&���&#�ก�กA-�,��3���	�����#
�#�����	� 

�������� 
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 ������,�( �	��� 30  @ก��� ����� O+3��?-���P %��&,Q-�� /�.�.+�
3+�� +$D�'�,D ��� ?�&�ก�&
/,I��+��R>S��'��
��
'�,���ก �&�� O�#���3&=� N#-�&=�P �#���	�&�/�3ก?T	 &'���(��0�ก�$� 
O�ก�
&ก&&	P 	�� )��$� O�$
���ก&&	P 0�(��&,-ก�&ก����%������ )��$� O?+
3+���+,+���P 
 �����,-0�ก�,��� )�
��	� ก�&��,��(���%��	�%���$���C�0�ก
��� &'����#�0'+����ก&'�,- &'���
(���-- O/�3กRU�	��P กA(	�(���ก3�%���	��#ก! 
 �	��� &'���(����3�	����0$�-,��,-�#� &'���(	���00'��$���!��3��F(���#ก���� ������0�กก�&/,I��
 &'���(����$���!�ก,-�#�-�/���Q���$
���ก&&	��3	 %D'�#� &'�������Fก����%���!��$��$
���ก&&	��	�0�ก
ก�&�3������,
ก&&	( ก,����� 
 &,Q-�� /�.�. &'�$�;= 0,��&=?�+� 0��	#�?�-���#�0'/�3ก &'���(����	� ����ก�&���ก�&���$�
�$
���ก&&	��������
�#� >00$-,� &'���(���,�(	�	# �&��� )��$
���ก&&	��3	�#�(��
�����(�� ?�� >00,�
����,C%���$
���ก&&	��������

���
,����!�-�/����#��#��,ก���$�
���+�
3&!�0,ก�#��'��!�-�/����#��#�	#
�$
���ก&&	
�����(�� 0��	#�?�-���#�0'/,I�� O?�&�ก�&&'�-#����&�Qก30
��
'�,���ก (Eastern 
Economic Corridor �&�� EEC )P -�/����#� 3 0,���,���� T'�+3���&� +�-$&# ��'&'��� N���� )�/����#���3	%��
?�&�ก�&/,I��+��R>S��'��
��
'�,���ก�,����� 
 ?�� /�.�. &'�$�;= ��Q��'�,������D'&,ก�����	��-����+�
3 (��+.) (�����,�	�
&� 44 ����
&,Q;&&	�!C (T-,-+,���&��) /.�.2557 ��ก����,���,����� ��+. �&����ก�&/,I��&'�-#����&�Qก30/3���
��

'�,���ก �/���ก�����	�
&ก�&/,I��&'�-#����&�Qก30 �&�� EEC ���-,��ก3�������� d3-,
3(�������� )�
&! ;&&	?���&A� 
  &'���(��0'ก�,-	�?+
3+���+,+����#ก�&,���&��(	� O�#	��&�Qก30P 	#?�ก���,	
��D= �&.�D3� 
����$/&&D ��%�;3ก�&�D'ก&&	ก�&�?�-��ก�&/,I��&'�-#����&�Qก30/3���
��
'�,���ก (�&�.) �#�
�D'&,Q	�
&# (�&	.) �/3����$	,
3�
��
,����'	�-�	������ )��!��������?�&�ก�&�#� �,��#� : 
 
 



�0�� 4
��%����� 5��
��&6 7�� 2 
 �&.�D3�(������&���#�	�?�&�ก�&/,I��&'�-#����&�Qก30�#���� ���#��3� EEC กA��� �&.����' �!��
ก!� ��' �&.��D,
3 ��
�
3&�= �#��3�?�&�ก�&/,I��+��R>S��'��
��
'�,���ก �/&�' EEC กA���ก�&/,I��
+��R>S��'��
��
'�,���ก 
�� 2 �������#�	#���		$��	,��0'���?�&�ก�&�#��������&A0��� /�.�. &'�$�;= 
0,��&=?�+� ���กf �#���	�,� 	.44 	� ���A�กก�&����������&A�%���/&��	�,�����ก�&��,-��$�������
A	�#� 
 O�#กRU���#� &'+�+�
���%�-�$DกA��� ก���,/�&���#�+������	#ก�&/,I�����	-3��!�
'�
� N������� )�
ก&'�!ก�,���,�%��?�&�ก�&�#�P 
 �,���#� ?�&�ก�&�#�0'
�����,ก�,�ก�&���$��$
���ก&&	��������
ก,- 10 �$
���ก&&	� g��	��
(���ก� ��%������
=�	,���	� �3��Aก�&��3ก�=�,0T&3�' ก�&������#�����ก�$�	&��(���!���'������#����+3�
�$%
�/ ก�&�ก�
&��'���?�?��#+#�
�/ ก�&� &&! ����& �$
���ก&&	�$����
= ก�&-3���'?�03�
3ก�= 
�+����/�3�+#�
�/ ��'��	#+#�
�/ �303�,� ��'ก�&�/��=�&-��0& ?��0'
���	#ก�&���$��/���/,I��
?�&��&���/���Q��&��&,- ?���+3C+�������ก+��%��	����$��#��&�-��$	 4 ?	�!� 15 ?�&�ก�& �+��	A���3�
��ก�&���$���&'�' 5  @(	�
���ก��� 1.5 ��������-�� 
 �����(&กA
�	 	# 5 ?�&�ก�&��,ก�#�� &#�-��	��� Oก&'�!ก�,���,�P %���#�#N# �#�
��&,Q
����&��� B�
 &'	!�
����&'�' 8 �����%��������/����&������		,���0ก,-�$กRU�����?�&�ก�&�#�0'�ก3�%������F ���� )����
�������#�
����ก3�0�ก���	&��		��%���,��
��&,Q��'
����ก+� ��'
���������&'-- O/#/#/#-J����&A�P 
	��+� 
 O&'--/#/#/# J����&A� �+�������ก�&/30�&D�?�&�ก�& 9 ����� �
�����&,-/����#��#�#N#
����&A�ก���
�,�� 0��	#ก�&
,���D'��$ก&&	ก�&%���	��!��&'--/#/#/# J����&A� %��/����#��#�#N#���0'��	�&�&��&'�'����
��ก�&/30�&D�?�&�ก�&����,��%����#ก N���������,��
�		�
&� 44 � B�+��������������3�ก�&(��P 
 
%��
/�1�+0 5 ก�1&+ก�	��0	
 EEC 
 
��������� 	#.�.�#�(���������ก&,Q	�
&#���	#ก�& &'+$	�D'ก&&	ก�&&'�-#����&�Qก30/3���
��

'�,���ก (�&�.) �#�	#���กf � )� &';�� �/�������ก&�- 5 ?�&�ก�&ก&'�!ก�,���,�%�� EEC 
 &'ก�-���� 
 1.?�&�ก�&/,I�����	-3��!�
'�
� ����3� 200,000 ����-�� ��&'�' 5  @�&ก
����/3�	�,
&�&��&,-
�!�?����&0�ก 3 ������ � )� 15 ������ ก���0'/,I�������	�&�&��&,-�!�?����&(�� 60 ������ 
���� 
15  @ 
 2.?�&�ก�&&�(J���	�&A��!�ก&$���/f-&'��� ����3����$� 158,000 ����-�� �#�0'
����+���	?��
���	-3�/�D3+�= 3 �����������&A0(���ก� ���	-3�����	��� ���	-3��$�&&D
!	3 ��'���	-3��!�
'�
� 
 3.?�&�ก�&/,I������&�����	T-,�&'�'�#� 3 ����3� 88,000 ����-�� 
 4.?�&�ก�&&�(J����!� �+���	?������&�� 3 ���� �/����/3�	�,ก�
�/��ก�&%�����3�������&�� ����3� 
64,300 ����-�� ��' 5.?�&�ก�&/,I���	�����	� ��/����#� 3 0,���,� �/���&��&,-ก�&/,I����&�Qก30��'
�$
���ก&&	 N����� @�#�0'
���(��%���&$ �&����/����#���'ก�&0,�&! �#��3� 



 O &'��A�����,C��� ��&'�' 5  @0�ก�#�0'
���%������	-3��!�
'�
����&��&,-�!�?����&(�� 15 ����
��0�ก >00$-,��#�ก���,/�&��(���/3�	%#����	��	�&���ก�&&,-�!�?����&0�ก 1.5 ���������� )� 3 ������
��!����� �/&�' >00$-,�	#�,ก������#�����3����( /,��� @�'ก��� 10 ��������!����� N���0'+���&��&,-���	
���,�%�����	-3��$�&&D
!	3 ��'���	-3�����	���(������P 
 %D'��#��ก,� ?�&�ก�&&�(J���	�&A��!����ก&$���/f-&'��� 0'
����%��������	-3��!�
'�
���'	#
ก�&� B����-&3ก�&���,��# 0��0'�������,��?�&�ก�&���	-3��!�
'�
���'&�(J���	�&A��!�ก&$���/f-&'��� 
 &'�-���	����&A0(�� 
 O�,�����?�&�ก�&�#�
���( ����ก,���'
���/���/�ก,� �#ก��������#������	-3��!�
'�
�กA��	�&�
��
&�(J���	�&A��!��%��ก&$���/f(��
���� 45 ���# ��'�+���	
��( �,����	-3��$�&&D
!	3 ��'���	-3����
�	���P 

 
 
 �&.�D3�ก����������� ��/��%��ก�&/,I�� EEC 0'�������ก3�ก�&/,I���	�����	�� )��	����#�
�,��	,���' &'+�+�	#&��(����'�$D
�/+#�3
�#%�������������� 3 /����#���� T'�+3���&� +�-$&# ��'&'��� 
?��T'�+3���&�0'� )��	����#�&��&,-���	�0&3C��'ก�&%���
,�%��ก&$���/f ������0�ก &'+�+���	�&�
��3����( 	�&'���������	����#�����&�(J���	�&A��!�
���� 20 ���# 
 ����/����#�+�-$&#�&3�		#ก�&��&��ก,����ก�&�&��� O?�&�ก�&/,��� 2P ����-����&� &��&,-ก�&������#��� 
��'ก�&0,�
,������,ก�����C�%��	 &'��� %D'�#�/����#�&'���0'� )�0,���,��#������!��#��$� ������0�ก	#ก�&
�
3-?
%����&�Qก30	�ก%��� ��'	#?�&��&���/���Q������,��	�+�� ?&��&#������+�
3 ?&�/��-��+,����� 
&��&,-ก�&��!����,�%���!��+#���+�C��'�,ก���$�
���+�
3 
 ��ก0�ก�#��,�	#ก�&�
&#�	�-�#กก��� 200,000 ����-�� ����&,-�����&3	ก�&/,I��/����#���'
�$
���ก&&	������#���&��&,-ก�$�	�,ก������#���&��(���!� ?��?�&�ก�&�#������3�ก�&( ������� ก�&/,I��
����&��0$ก��	A� 0.+�-$&# ���� )�����&���+3�/�D3+�=&��&,-�&���J�&=&#��#�0'��3����������#�����-&3��D����(�� 
 



:+ 4%����

��
��% 36 &;
&+&ก��0
�.�! 
 ��%�;3ก�& �&�. �,�ก����������� �,-
,���
�&,Q-��(���������?�&�ก�& EEC 
���,ก���$�
���+�
3 
 &�กd���(��&,-ก�&
�-&,-�#��#	�ก ������0�ก&!�0,ก/����#��#��#��!���������	 O�#���3&=� N#-�&=�P 
 �3���	���&!���� &'���(����������	�����&,-&��&,-�$
���ก&&	��������
 ��'0'/,I�� EEC ���
� )�/����#�+,�����%�����+#� /&��	Fก,-����3�;3 &'?�+�=/3�����ก�&���$��#�/3���ก���/����#�����F �3��(��&,-
���	���0 
 O�	��
��'-&3�,�	#���	
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